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Gene

ns. ""””‘i IS Pr':’\J'.H'Qd by

In hum&s the

(A) | JD A
(B) Windpipe
(C) Lung
(D) Mouth

Which of the following types of soil js

suitable for cu[!i\ulinn of cotton?
(A) Laterite soil
(B) Alluvial soil

(C) Black soil
(D) Red soil

Which of the following animals is NOT an
example of endemic species (animals that
existonly in one geographic region) in India?
(A) One-horned Rhino

(B) Bengal Tiger

(C) Mithun

(D) Cow
. ___ 15 the largest Bauxite producing
Al In India
\ A : |,' : 1
B : ’
ar Pradesh
(f Pis '
‘ 1.L£‘.l
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Vi ;;|L {aa
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Tl # .
(A) @& ot
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Bt & & @ o) g o8 @ WA @
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(A)
(B)
(C)
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viefla #ay
Brell Ag)

RIGREE

71 3§ | BIF |7 Sar qNe q @RS
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(B)
(C)
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(B)
(C) aHerTg
(D) Hexy Y9
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" / hitects was

' imd#wwmg I.ndlﬂn a:rchixccwre
e 2018 Pritzker

( Al Hﬂfm Contractor

(8) Charles Correa

(D) Piloo Mody

In April 2018, which of the following
schemes waslaunched by the Uttar Pradesh
Government 1o enhance the green cover in
catchment areas of the river Ganga and to
control land erosion?

(A) NamamiGange

{B) Ganga Hariteema

(C) C‘mganga

(D) Save Ganga

Q7

Q8

ﬁmqﬂmwmﬁﬁaiﬁzmam
ey aAfbead ?WWMW'
(A) FHIT Dimdey

(B) T HIRAT

(C) ATAF®T Qi

(D) tie, Adl

e 2018, H, I WA WYOR &R T
T8 @ wowEy &7 i gRd &3 P dar
afte war SrE B e @ forg T A |
RIS 1w 0 - R i B 21 4

(A) i 19

(B) #1rm &Sifern

(C) @&l 190

(D) ¥a 1
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In March 2018, which of the following world
le?ders Was stripped ofY his/her Human
Rights award conferred by the US Holocaust
Museum?

(A) Aung San Suq Ky

B) Kim Jong-Un

(©) Mahinga R

| Japaksa
(D) MAss;d

QIO Whicy
ut:u :ﬁ‘ﬁejfoﬂowing weightlifters from
L On A gold meda) |
Games 20187

Q9

Q10

w2018 H, Poa F 9 Rbw R a7
e Belihne mmm

(A) =1 W 3 &) ‘ '

(B) f&n wiiFT—aq

(C) HAfger wromaey

(D) IR AT—I¥HG

Pt 3 ) SR R B Ry
ZHEA U 2018 § Yaqof W G
(A) Yo aTaa ST Ry

(B) wiig e
(C) M ax
(D) R®w arae

SITErT 8 | i L

(A) 8w

(B) 7 s
),-&)_‘21 qa
(D) 4 S
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in April 2018, the Indian Army Signed a
Memorandum of Undertaking (Mol —
tailor-made 10 suit the requirements of
secvilll soldiers, pensioners and families —

with for the latter’s salary

package:

(A) HDFC Bank

(B) ICICI Bank

(C) State Bank of India (SBI)

e 2018 H, sy Qe A DA A
TR SfR uftar 4 SRSl ITH
STt AT ey g FAL v BT
WSl ST (MU oY ¥R 54 8|
(A) U9 € UF W §o

(B) 3 ¥ ard & ad A

(€) WReAT e i (CHAIRIR)

(D) vfray da

(D) AXiS;Bank Download Answer Key @www.PoliceJobNews.in

In March 2018, which of the following
countries announced that it would withdraw
from the International Criminal Court citing
international bias as the reason?
(A) Afghanistan

(B) Pakistan

(C) Philippines

(D) Vietnam

W“"W the followmg wrote one of

.,
Qg syl 9 IO
e Ylmq%

QI3 #rd 2018 #, f=ifeifRaa 3 9§ fba <o 1

RIS YaiUTe 1 gdrell & Y U8
dryon &) % 98 sty anaie
=arery | e S

(A) BT

(B) urfdw™

(C) fheidi

(D) =

HereHr Al B B S F & o dwm
5 B G O 1 2 -2
(A) ¥Eard

(B) Herarg

(C) #f¥s wEdl

(D) sireay

w99 @1 B ¥ sy
(wfrergfran) & WG Erar #2
(A) @fRa afy® a3

(B) ggd

(C) ssfadl

(D) M

weppiafta @17
(A) fafar
(B) areh
(€) wvrr
(D) sysra¥
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Vat 1m\'ah1m' is the motlo
fahamyahs

;Yo
of: of India (SB)
(A) St Corporation
(B) LICL
[

o Lo
o Minister's Office

ol

) of
Life psurance

(D) Prime

which gripof water separates india and Sri
L

Lanka?

(A) Gulfof Mannar

(8) Gulf ofAgaba

(C) Gulf ofMexico

(D) Palk Strait

Q18

Which Indian port city was gifted to C harles
11 of England by the King of Portugal as
dowry in 16617

(A) Mumbai

(B) Puducherry

(C) Kolkata

(D) Goa

Q19

Q20 Which indian philosopher-thinker is

remembered for his address at the World
Parfiament of Religions at Chicago in 18937
(A) Raja Ram Mchan Roy

(%) Swami Vivekananda

() Servepalli Radhakrishnan

(D) Ramakrishina Paramahamsa

Qz‘ ‘ ¥ oy
:‘;"ﬂ;h Werature, what is "Dhanpat Raj* —
e foremost Hindustani Writers of

Wentieth century — better Known

(& e
N U
.‘ . A ’ { .l-
! AN » 3 .
L | ‘w i

Wy, s hehan
AV ' fememberey for

017 ATTEN JaRrdge
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(A HIYE ¥CC 4@
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(B) el AP 2
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i SHWHY
QI8 e iR sl @ Fr @ oI

(ard)) s el 8Y
(A) A=TR @ TS|
(B armEr @ Qs
(C) 'ﬂ-NT'ffT @Tg‘
(D) 1id GlolSHoHe

1662 i TATIE @ YOl A grets B AT
i @1 P Al AR deid feY qed @
d Y SusR # fdr A

(A) Ha=
(B) 4S9
(C) DrDIdl
(D) ar

Q1Y

el R SRS R o) 4eos
Rl # SN R e
gl @ fe UIE AT Sy 8o

(A) ST 9 WET ¥

(B) Wil [Aaarg

(C) T THIBYE

(D) ~.’T‘7.r3m'] RELE i3

Q20

ad wifds #, xn—\rﬁ;sm |
el REHIF o Uiy "\’HTE?[ D
Am U Sl ST 87 ' @y
(A) fbaes REg)

(B) 3 aridl

(C) H# wHdEd

(D) dfreds aesi

gRAY WA TEF B I
& fore S ST 87

(A) orwa M

(B) Mararel

(C) roeraiaof

6 (D) HeEwTEn
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Q23

Which of the following structures was built
as a war memorial to soldiers e o8
undivided Indian Army during the First Worid
War? |

(A) Gateway of India

(B) India Gate

(C) Buland Darwaza

(D) Lahori Gate, the main entrance 1o the

Red Fort

Whase autobiography is titled *Goal’?
(A) Major Dhyan C hand

(B) Baichung Bhutia

(C) Pele

(D) Dayid Beckham

" Whoisthe inventor of the World Wide Web?

(A) Sergey Brin
(B) Bill Gates
(C) Steve Jabs
(D) Tim Berners Lee

e V&‘mikt Ashram was located at
IMavarta in present day’s of Uttar

.t Maithili Sharan Gupt was
in Uttar Pradesh.

Q23

Q24

Q25

Q26

Q27

Q28

st 3 9 fFa gorA faea 44 B
AT a&m%ﬁm & v @
38 TR H Ty e

(B) gfeam 1=

(C) goig gvamey

(D) ©MEN T2, e foel B THER
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feFaan smermern & Ade T 87
(A) VSR &g

(B) argge yfear

(C) Ut

(D) sfae dasm

qos a13S 99 @ AfATHRD DI 87
(A) & fa=

(B) fae ew

(C) e Sifed

(D) &5 g4 @il

#ef arefifes &1 3mem aewad o Rea o
Gl T Y e dewr e . i &7
(A) fagy
(B) iy
(C) amToRil
(D) garEmaE

@ ﬂl'\'ﬁllj_“i Frl B Soolhg g s &7
(A) urrfid

(B) #Ha avard

(C) wfe

(D) w+1r+1a

(A) Y
(B) s
(€) sl
(D) =
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Q30

Q31

Q32

Q33

o

The Gllp!!lpe""‘)d’S Bhimrgaon temple, made
of terracotta bricks, is located in

district of Uttar Pradesh_ i
(A) Chitrakoot

(B) Kanpur

(C) Gorakhpur

(D) Varanasi

Q30

(A) Fasme
(B) &g
(C), vy
(D) armoRg

nload Answer Key @www.PoliceJobNews.in

The ViSh‘vaR‘ﬁwmmP'e of Varanasi was
constructed by

(A) RaniAhilyabai

(B) Harish Chandra

(C) Ranoji Sciendia

(D) Moropant Pingle

The post of Lokayukta (anti-corruption
authority) of Uttar Pradesh was created in
(A) 1950
(B) 1965
(C) 1975
(D) 1977

Mughal Ghat of Farrukhabad along river
Ganga was constructed by Emperor

(A) Akbar

(B) Aurangzeb

(C) Shah Jahan

(D) Jehangir

i e ing folk dances .is
%icho{':;‘f:r::f crop harvesting in

.
-8

SR
oy ! o o0
141 mglon‘
LA vz T
‘. " )

Q31

Q34

auvRR & faeasmer Hfaw @ W .............
- BT 6T 3|

(A) T rfRcuranEg
(B) &89 9

(C) el Ry
(D) #Rga e

T YSY B ADIRT fae

a1 e (AR e
(A) 1950
(B) 1965
(C) 1975
(D) 1977

TG R O

1 Fifer aneeme S o
(A) STHHY T g
(B) SR L
(C) JBVE!

(D) FEFMR
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235 MotiMasjid of Agra was built by
(A) Akbar
(C) Aurangzeb
(D) Dara Shikoh

= Data Book is the state
ument established for documenting rare
-and endanger d species of animals, plants and

Jownload Answer Key @
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Q42



Q43 e TR A U W R
(A) @
(B) ¥@
(C) &8
(D) 38

=

(A) PRI G BT

(B) &S & @ &I |

(C) &8 @1 diE &

(D) 2a—<| B |

Q45 ‘sl 1 @ A WY 1 7 HIS B ADIHR
@1 3l 8-

(A) T8 41 |

(B) Y50 F|

(C) =R W 4 81|

(D) ®e SR—f¥&T A1 B

Q46 fmifafas # & yE 4y Bifey-
(A) FOISH & P -TH B |
(B)Wagﬁﬁ&@\[‘ﬁmgl
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(B) Teqoy
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(©) B g 3!::‘-#7 \itri» @_ﬂﬂé URATE +18)
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Q71 Wl # W FAM BT B T & foe U1 iy ;g?z
g = HIAl 67 (A) wiulEra
] HHc Hedl b ]
(A) ST @i (B) e
3 3 C) ar
(B) €4 @i lD .-
(C) I Bl (D) FECll @ &
(D) 9xiga @l .
Numerical & Mental Ability
Below isa statement giver. followed by two Q76 9 UH FuT Rar my 8 fﬁ'ﬂ;ﬁ
2lOW IS5 a4 ol - . . 2 ' o
Q76 Cil ‘i i (‘Unul(jt( ”lt' \'[Jl(-H]Lnl 0 l'll ::I E”"UHQ lzl sﬂ «}';u.-1 m} wmﬁml q
UM Wiia- j s 18/ -
assu [Zid 1o “‘hu;ll\‘”hc d-,_\(lll\pllnn\ IS/ ol 9 St (Wlﬁ Zfﬁ : 't]'[qa g"q
> an eC crecarding . IGI! |
= licit in the statemen® disregarding gQ, a8 i of R e SIS @)
are 1m _ '
s r’n|\- known facts. aicaffRa & ‘?l mmrq
commoni
e+
Statement: ' : QPR R
Television is an idiot box- m-irl-x\fl-l P 94 Sar 21
As tions: G
sumptions: : L ‘
(1) Television is idiot () <o gy &
sion. <
(1) Stopbuying eIV © it (ID) AT ey g
gion (N1 (A) das g : |
ER R asumD js implict (1) ety
(B) Only assump s et of (1) is ) I (1)
(C) Neither assumption (C) = & &y () T8 L
SR By
implicit AR Y=Y .
(D ; ion (1yand (1D implioi (D) SVt ST ) s (1) %ﬁ%ﬂ Ly
) Both assumption (1)¢ %ﬁ%
B-AN 12 %‘
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Below is a statement given, followed by two 77
elow = \

3
=

cqumptions: Consider the statement 1o be
ass

true and decide which of the assumptions is

are implicit in the statement, disregarding

commonly known facts.

Statement.
Think before you leap.
Assumptions:
(1) Leapingis connected to thinking
(11) Oneshould think carefully before doing
any work.
(A) Only assumption (1) is implicit
(B) Only assumption (11) is implicit
(C) Neither assumption (1) nor (11) is
implicit

(D) Bothassumption (1) and (11) are implicit

isNOTa Q78

Q78  Which ofthe numbers given below
square number?
(A) 5625
(B) 7225
(C) 3625
(D) 9025

Q79 Select the most appropriate option to solve Q79

the Squation,

805 (26 — g + 3) 12
(A) 12

(B) g

() 16

(D) 3

Q8
i the most appropriate option 10 solve

CQuation,
0374 659 +2.26 =
(A) 19,67
B) 1862
©) 1992
1852

Q80

13

rT.‘: T ._}"-7 :
qd 8
qe A0S
N NV & SS9 H" & N
- s ooty SiGTl PO
erT WTARIE: ST qe] @ oINS
= Broter 3 F BUd A A A HROS

: \ LI
(1) @B A &l A el €|

(a1 e 6 B B DA 4 yge e o
A= =@ife] |

(A) dae s (1) sifiRd € |

(B) ddal RO (1) sfafifRa &1

(C) =t a areem (1) =1 & (1) afifRa & |

(D) a1 areng (1) R (1) safifea 2|

frafafaa Racd 3 9§ SF-0 we
qif—qeen 8l 87

(A) 5625

(B) 7225

(C) 3625

(D) 9025

fyiferiad IS H gg ﬁmﬁ
waife ofta Reeg gy o
80+5x (26 -8 + 3) +12=

(A) 12

(B) 8

(C) 16

(D) 32

&g

fpafafaa i) .
watfs ofaa Resy o
10.77 + 6.59 + 2.26 =
(A) 19.62

(B) 18.62

(C) 19.72

(D) 18.52

mﬁ:';“
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082

Q83

084

Q85

(.)Hh

1‘“’
|1
(C)
1S
(D)
’ 9]
e (R
42, 60 U4 72 &l Hawi FHHAD (8 :
(A) 2
(B)
(C) O
(D) 12
5 60 T T AT (T
Rl B
A) 600
B) 240
(C) 150
Ny 300
] hc 4§ y
i jITR1 'i 'rn‘]
‘ : {Ihele g e
cl iy
I3 .
(A) 41
(B) 44
(L) ‘\‘
(1)) 36
25 4 A‘H“u'l'” Be
(A) 154
(3) 147
(C) 140
(D) 133

65 @1 220% Ty &7
(A) 145
(B) 144
(C) 143
(D) 142



By selling an item forT 693 Simeit
profit of 26%. What was the pric. .
Smriti purchased the item?

(A) T550

(B) 560

(C) T540

(D) T575

akes g

Which

After a discount of 14%, a toy was solq ”
% 215. What was the marked price of the
toy?

(A) T240

(B) X275

(C) T250

(D) T 260

9 The interest earned on < 3,750 deposited
for 5 years at 4% simple interest per annum
will beX ,
(A) 800
(B) 640
(C) 675
(D) 750

Q0 Whmww‘d be the interest earned on Z2.100

for two years if the interest is compounded

annually at (% per annum?
W) Ran

-

Q87

Q88

Q89

Q90

QI

Mmﬁﬁzomaﬂmwﬁﬁza%
I I BT &) iy 3 o 99 9
I B G % o

(A) T550

(B) ¥ 560

(C) T 540

(D) X 575

14% & B W va Racli @ fast T 215
# @ | Raci a1 sifteer Fed @ A1?
(A) 240
(B) ¥ 275
(C) 250
(D) T 260

4% ufay af @ WHNYT et YR 5 @Y &g
Z3.750 @1 99 T GR, T, AT
g B |

(A) 800

(B) 640

(C) 675

(D) 750

10% @ aiffe whHgfs & uv 2 a8 3
fore 22,100 D P19 W wre 3 @9 aren
airst @ i gar g7

(A) T432

(B) T 441

(C) T 453

(D) T462

fverell sy aferst At e T 336 U T 231
v wRIEAR A P A g Rae 3 ge
ad are 4 A st & 12-adm)
@ ez fvare 3R S[EE {aRT gy
i gie wQ P B AU 2 3 BN uR
firarel A e ad9 @ @g aer dwr
fovesrer ferm g0T?

(A) 45

(B) 5.5

(C) 6.5

(D) 7.5

F w1 e




092

Q93

Q4

Q95

The average of |
%31 and another number

is 30. What is the thirg number?
(A) 35
(B) 36
(C) 40
(D) 45

PersonAcanc :
son A can complete a job in 90 min while

B can complete the
an complete the same job in 54 min. How

long will they take to
Yy W 0 L"'“[‘]CIC (ht‘ iﬂl‘

together?

(A) 3dmind0s
(B) 3dmin30s
(C) 33mindss

(D) 32minSSs

: e
_alita can walk at 6 m/s or cycle at 25 m/s

To cover a distance of 600 m using a

combination of the two modes of transport,

she takes 45 s, How long did Lalith Cy¢ le

(D) 265

1 of o rod are
The length, width and heig! ) FOURN S
in the ratio 5:4:2. 111 4 s

wom, the length

fth by 25

70 th‘ the Wik

B Ly
is increased by 40
f the room ¢ hange for

how will the volume ¢ =
g ( .
the total arca of the fou! walls of the room
C Al
¢ same 85 befor®

{o stay th

(A) Remain the came

(B) Increase by 3/ 257
15%

(C) Increase by 2
(D) Increase by 10

16

92

093

Q94

Qs

S e a4 &’
(A) 35
(B) 36
(") 40
(D) 45

A o{ f_vj')-m Eﬁlu ‘-DT J @y
s & ovdfd Sl B @I ggl ®M
o &) &l T 6

Grerg, T @1 G BN # fec

FTGIT?
(A) 34 fAFiE 40 §3S
(B) 34 fiie 30 93
(C) 33 e 45 93

aifde A, 90 R

ey 54 fAE

(D) 32 f1e 55 Udhs

qferdl, 6 A/ TS ad Wt & arerT
25 ey /A& U ARfed wer wad) &
AR =L e 1
39 650 Wew @ = :q T TR 3 & o
i 8 | afeyen H},\- T Ty W:ﬂ:ﬂ q’:

aaiaT &

Ide

Brn?

(A) 15 ¥9as
(B) 20 Y&
(C) 25 ¥wg
(D) 26 9wy

U R II‘)‘ ﬂq['\‘ —
<.

WIURT 8 : 42 5 3
, | yfa
41 &) .luo/, Q“Y

qaanr

Hharg IR A @
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St oy 25%
I 45dma % .

(A) 1 k ”’“m e L —
A) TER 99 & ghpy

(B) .‘I,-Slo REAGSRY]

(€) 2025% w@rwry

(D) u)"u-m“m BIfy

I a W{Q %

R ESTe
U

Q!

Q94
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lan can do a piece of work by himself in 15
hours while Manas can do the same work
alone in 21 hours. Starting with lan they
work for an hour each alternately till the

Q96

work is completed. Only during the last slot
one can work for less than an hour if work
gets over. How long will it take them to

complete the work?
(A) 17 hrs 24 mins
(B) 17hrs 30 mins
(C) 17 hrs 48 mins
(D) 17 hrs 50 mins

Q97 Prasoon cycled a distance of 180 kilometre

at a certain speed. If he cycled 2 kilometre
slower every hour, he would have taken 3
more hours to reach the destination. Select
from the options, the speed in km/hr at which
Prasoon actually cycled.

(A) 9

(B) 10

©€) 12

(D) 15

Q98 Complete the analogy.
Lion : Cub :: 7 ; Caterpillar
(A) Larva
(B) Cat
(€) Butterfly
(D) Insect

Q99 Consider the pair of words ANCESTOR:
DESCENDANT
Which of the following pairs most closely
Matches the relationship between the words

.,% Beautify) ;: Handsome

A

Ml:Ugly
ckness : Discase

Ness : Death

Qo8

Q99

T, el v 15qaﬁqﬂﬁ;:if
& A e B o P B S 5
21 B o & | P gy @ a0 g
Waﬂﬁgq,aﬁ:ﬁm@_ma‘é@ﬂa
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(A) 17 €2 24 fime

(B) 172 30 fie

(C) 17 52 48 famre

(D) 17 €2 50 fse

G s fAfdma afy 180%‘]%??}701
o8 a% aEfra &) afd a8 iy 6
2 frarier & Ohf 7Ry & wefea T
& o 99 g 9% ugad # 3R 3 g
e o wda 8 | FEfeifea Reer |
. freriier /ue o, O9 TR BT 95T B
foreni area 9 W ) WISfhd gare 8y
(A) 9
(B) 10
C€) 12
(D) 15

HIgw gof 3 |

ﬁig : mg?nil"ﬁ il
(A) fEwas

(B) Rl

(©) Ryereh

(D) e

gool]




e
: Q100 JF [gFHcd T Aa > £
0100 Select the option that is related 10 the third Gl T 3 TN
é 5 :
term in(hC same way SL‘L‘OHd term s rcl;ll&j W _”@(, 3 |
ed Ug | Gt = .
1o the first term: W i, ‘11?&"?;” %‘
. HEIRIY, HH49
Maharashlrd : Mumbai :: Tamil Nadu * i 3
(A) HY
PR } v H
(A) Madural (B) ¥ic |
: (C) O~ 3

(B) Salem
(C) Chennai
(D) Coimbatore
C ) 199 | . ‘,"\‘, |
0101 (.omp!clelhc:m;zlu-:n_\, Q101 W& 1of @
- .. 7 ¢ GdYC

Pen : Nib 92 : Cockpit Faod : Al f
(A) AH+

(A) Acroplane
(B) HaEe BH

(B) Poultry farm
(C) g

(D) 391 OH

(C) Submarine

(D) Engine room

Q102 Select the option that is related to the third Q102 B4 fameH @ o B ol QR Ue ¥ Ol
term in the same way second term is related Sl e ¥ R g o s gEr ue
to the first term: ygel 74 ¥ zfaferd € |
SOCKS:TPDLT :: PANTS : SOCKS : TPDLT :: PANTS @
(A) QBOUT (A) QBOUT -l
(L—i) OBOUT (B) OBOUT
(C) QBPUT (C) QBPUT
(D) OBPUT (D) OBPUT
Q103 Select the option that is related to the third 3 39 & .
term in the same way second term is related i ;QZ{]I\:{F? (t_" vm FUR SRR v < O
to the first term: :‘:‘H :r‘\g 1_;’:_??: L fp R 0a
Prose : Paragraph :: Poem & ___ el .—; ‘ s I
(A) Line : e R
(B) Verse it
(C) Stanza B
(D) Rhythm (6.
(D) die

Q104 Select the option that is related to the third Q104
term in the same way second term is related
to the first term:
AERYL: TEAL :: PPYAH:

% e o TR
jgaﬂtm\ & wafaa g, f;ﬁ: R AD

9 W wafa ) U IRE
AERYL: TEAL : - PPYAH:

(A) TFSO
(B) DAS (A) TFSO
(C) NITH (B) DAS
(D) THORS (C) NITH
(D) THORS
B-AN 5




Q105 What will pethe 7" letter in the sequence:
A, E, I .7
(A) V
(B) W
(C) X
(D) Y

Q106 What will come in place of the blank in the

series below:

4. 12,36, 108, 324,

(A) 972

(B) 1089

(C) 989

(D) 672

_,2916

Q107 Select the option that will come in place of
question mark in the below series:
015819L12X24Q7?
(A) 20
(B) 16
(C) 17
(D) 18
Q108 Select the option that should come in place
of the blank in the below series:

81,121, 169,225 9

(A) 291 e

(B) 289

(C) 285

(D) 281

Q109 ‘What will be the next group of letters in the
sequence;
b, be, de, gh, ki
(A) pq
(B) op
(C) gr
(D) s

Q110 Which
o i:“‘“? of letters will come at the 10*
below series?

aabed,
(A ki yCdeef, defgg, ...7

19

Q105

Q106

Q107

Q108

Q109

Q110

TN

4. 12. 36, 108, 324, _
(A) 972

(B) 1089

(C) 989

(D) 672

v fwcr &1 aaF B ol [ e gl
¥ gy foes @ W 9Y SIYE
015519L.12X240Q7?

(A) 20

(B) 16

(C) 17

(D) 18

e sjren W Raw I Y 37T el ey
&1 Tgq DY

81.121,169,225, 2

(A) 291

(B) 289

(C) 285

(D) 281

I ol @1 ATl I B
ab, be, de, gh, kI? ;
(A) pq
(B) op
(C) gr
(D) rs

aabced, beede, cdeef:

(A) jikim °h defge, ...2
(B) jkkim

(C) jkitm

(D) Klimn




QIN

Q112

Ql13

A clock is showing the time 4:35- {f the

minute hand moves 270 de arees in clockwise
direction, in which direction does the hoUf
hand point?

(A) South-East

(B) South-West

(C) North

(D) North-East

Prabuddha and Dipali were standing facet0
face in the morning and chatting. If one
joined the two with a line, then the obtuse
angle formed between that line and
Prabuddha’s shadow would have been 135°.
Which direction was Dipali facing?

(A) North-East

(B) South

(C) North

(D) South-West

In the following question, two statements are
given and these statements are followed by
two conclusions numbered (1) and (11). Take
the statements to be true and decide which
of the given conclusions logically follow(s)
from the two given statements, disrcgarding
commonly known facts.
Statements:
Some paints are books.
All the books ar¢ pencils.
Conclusions:
Some paints ar¢ pencils.
No pencil is book.
(A) Only conclusion (1) follows
(B) Only conclusion (2) follows
(C) Neither conclusion (1) nor @) follow
(D) Both conclusion (1) and (2) fojjqe

Q112

Q113

cl @l ﬁt’ﬂ ¥ 270 o
iﬁqﬁ@ 3 qr ¥ A a8 fbu Ry
g @X !t
() e
(B) &fRroT—

(C) Ji¥
(D) Sa—
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awggm@ésmarﬂ?ﬁwﬁmm‘a
78 v fad, dfed ¥ S A 81 Sl
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e ey @or 135 AT @ &1 S|
S e iR g8 fpy @Sl 87

(A) SR—Yd

(B) aféror

(C) IR

(D) &fEur—uf¥as
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Q115

Mental Aptitude, [Q & Reasoning Ability

Q114 Three out of the four figures given below
are similar in a certain manner and one i<

different, Select the figure which is different

from the rest:

BPPE
A B C D

(A) A
(B) B
(C) C

. S

QI14 fRY TU TR forai % & &y fsedt a1 fbedl

WU W T &) T ) g dX |

(A) A
(B) B
(C) C
(D) D

(D) D Download Answer Key @www.PoliceJobNews.in

Select a suitable figure from the answer
figures that would replace the question mark

?

Q16 -
:h'es "M Of the four figures given below
d';fumllu N a certain manner and one is
- tremy g lect the figure which is different
TOm thy test
G
C D
(A) A 8
®) 5
(Cb))c
( Y
BaN D

21
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A) | (@]
® | ©
-

(D) [@
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YN W v @) i @) wwam Y |
O][e][@][®]
A B c D
(A) A
(") B
(C) ¢
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116. @17 H@en § 7 il e 9w v i |
5,41, 149, 329, 7

(A) 581 (B) 831 (C) 501 (D) 402

117. mmm%&mmmm?mmmm?fw@xgﬂmmmﬂ
4l 7
(A) mjﬁﬁﬁééﬁﬁaﬁéaﬁammmmwm%\mfil
(B) mmﬁ%mumﬁmﬁtnmﬁ? \
(C) T STEATE S S 1 3RS F & A e 8 FE e Sl
(D) T =T 2 g e S |

p Download Answer Key @www.PoliceJobNews.in
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» and

Q117 Study the incomplete figure titled X+ & |
then select the correct option which will
complete figure X
(A) Figure A
(B) Figure B

(C) Figure(

(D) Figure D

Q118 Take the following statements to be true, QI18

even if they seem to be at variance from
commonly known facts. Decide which of the
given conclusions logically follows from the
statements.

Statements

1) Every ministeris a student

2) Every studentis inexperienced.
Conclusions:

1) Every minister 1$ inexperienced,

11y Some inc.\pcricncm] people are
students.

(A) Onl_\‘cuuclusion | follows

(B) Only cnn\:lusinn 11 follows

(C) Both, .-;oncluwms 1 and 1! follow

(D) Neither conclusions I nor 11 follows

B-AN
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A B C

(A) RFA
B) F=FB
) fFEC
(D) f#E D

e BB U AR fFERd Ry o &) R
U FHYHA]
U B BT WA A (G qrasE [ 0
HHIAS: TTed Wi 8), s fyepst @1

" Mgl @

-HEI} kN

T BN IR 98 T, e
TP B9 F womt N
HU, e 8 |

D WE R s wry
n

2) l}kv‘pﬁ 47

3 Sy
Pﬂi}ﬂi : é‘:‘ %l
)]



wing statement to be true even

0119 Takethe follc

: g 1 he at varnance ITtom commonh
{Fthey Seets

vn facts. Decide which of the give
known 18

conclusions logically follows from the
statements.
Statement

1y Allyoung scientists are open-minded
2) \'m_lpcn-mlnd:J men are superstitious
Conclusions:

1) Noscientist is superstitious

I1) Noyoung people are superstitious.
(A) Onlyconclusion I follows

(B) Only conclusion 1 follows

(C) Both, conclusions | and 11 follow

(D) Neither conclusions | nor 1 follows

Q120 Read the statements and identify the logically
correct conclusion from the given
information,

Statements:
An apple a day keeps the doctor away
Conclusion:
1) Ifoneeats an apple every day, a doctor
Visit ean be avoided
1) 1fone eats an orange every day, he will
fall i,
(A) Only conclusion 1 follows
() Only conclysion I1 follows
(C) Neither conclusion 1 nor 11 follows
©) Both, conctusions 1 and I follow

Download Answer Key @www.PoIiceJolq(qu“ Siin o

Q121
Select the Option that is related to the third

in the Same way as the second term IS
l::ed 10 the first term. :
) Vg “Sweaters :: Monsoon !
(B)‘G““‘boots
( chlids
B-AN p"qpitutmn
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(C) 13N
(D) =1 @1 | 3N
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(A) &q;

(B) v 3 St

(C) araw

(D) anf
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